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Abstaract — Many author studied coupled Fibonacci sequences and multiplicative coupled Fi-
bonacci sequences of lower order two, three and four etc. In this paper we defined multiplicative
coupled Fibonacci Sequences of r"* order under 2" different schemes. Some new identities for these
sequences are established under one specific scheme.
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1 Introduction

The Fibonacci sequence is a source of intresting identities. Many identities have
been documented in [14], [15], [16], [17], [21]. A similar interpretation exists for k
Fibonacci and k& Lucas numbers, many of these identities have been documented in
the work of Falcon and Plaza [3], [6], [7], [11], [12], [13]. Many authors defined cou-
pled and multiplicative coupled Fibonacci sequences by varying initial conditions and
recurrence relation. Properties of these sequences are documented in[1], [2], [9], [4],
[5]. Many authors defined coupled and multiplicative coupled Fibonacci sequences
by varying initial conditions and recurrence relation. Properties of these sequences
are documented in[1], [2], [9], [4], [5]. In this paper we defined multiplicative coupled
Fibonacci sequences of " order by varying recurrence relation and some identities
for these mentioned sequences are also obtained under 211" scheme.

Coupled Fibonacci sequences involve two sequences of integers in which the ele-
ments of one sequence are part of the generalization of the other and vice versa. K.
T. Atanassov [1] was first introduced coupled Fibonacci sequences of second order
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in additive form and also discussed many curious properties and new direction of
generalization of Fibonacci sequence in his series of papers on coupled Fibonacci
sequences. He defined and studied about four different ways to generate coupled
sequences and called them coupled Fibonacci sequences (or 2-F sequences). The
multiplicative Fibonacci Sequences studied by singh-shikwal [?]. K. T. Atanassov
[2] notifies four different schemes in multiplicative form for coupled Fibonacci se-
quences. The analogue of the standard Fibonacci sequence in this form is z¢y = a,
r1="0, Tpio = Tpy1 -, (n>0).

Attanasov [1] introduced a new view of generalized Fibonacci sequences by taking
a pair of sequences {X,}Zigo and {Y;}Zigo and which can be generated by famous
Fibonacci formula and gave various identities involving Fibonacci sequence called
the coupled Fibonacci sequences.

In this paper we defined multiplicative coupled Fibonacci sequences of r** order by
varying recurrence relation and some identities for these mentioned sequences are
also obtained under 2" scheme.

2 Preliminary and Notations

Definition 2.1. Multiplicative Coupled Fibonacci sequences of third order:
Let {X;}'—" and {Y;}:_° be two infinite sequences and six arbitrary real numbers
Xo, T1, T2, Yo, Y1, Yo are given. The Multiplicative coupled Fibonacci sequences of
374 order are generated by the following eight different ways:

First scheme

Xn+3 = Yn+2 : Yn+1 : Y’m n=>0

Yiiz = Xop2 - X1 - Xy, n20
Second scheme

Xn+3 = Xn+2 : Xn+1 : Xna n >0

Yiiz3 =Yoo Y1 Y, n>0
Third scheme

Xniz3=Yn2 Y1 - Xy, n20

Yn+3 = Xn+2 : Xn+1 : Yna n=>0
Fourth scheme

Xn+3 = Yn+2 : Xn+1 : Yna n=>0
Yn+3 = Xn+2 : Yn+1 : Xna n >0

Fifth scheme

Xn+3 = Yn—i—? ’ Xn+1 ’ Xna n >0
Yiizs=Xnp2 Yoy Y, n=>0
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Sixth scheme

Xn+3 = Xn+2 : XnJrl : Ynu n

Yn+3 = Yn+2 : Yn+l : Xna n
Seventh scheme

Xn+3 = Xn+2 : Yn+1 : Yna

Yn+3 = Yn+2 : Xn+1 : Xn; n

Eighth scheme

Xz = Xngo Yoy - Xy, n 2>
Yn+3 = Yn+2 : XnJrl : Yna n >

0

50

Definition 2.2. Multiplicative Coupled Fibonacci sequences of rt* order:
Let {X;}.—,” and {Y;}.—,° be two infinite sequences and 2r arbitrary real numbers z,
X1, To, T3, ..., .1 and Yo, Y1, Y2, Y3, --., Yr_1 are given. The Multiplicative coupled

Fibonacci sequences of 7" order are generated by the following 2" different ways:

First scheme

Xn+r = Yn—l—r—l : Yn+7"—2 : Yn+7’—3 e

YnJrr = XnJrrfl ) Xn+r72 : Xn+r73 A

Second scheme

Xn—i—r = Xn—i—r—l : Yn+r—2 : Yn+r—3 A

Yn-{—r = Yn—l—r—l : Xn+r—2 : Xn+r—3 A

(2—1)t" scheme
(a) If r is even,

Xn-‘,—r = Xn—i—r—l : Yn+r—2 ' Xn+7”—3 et

Yn—i—'r’ - Yn—l—’r—l : Xn+7'—2 . Yn+r—3 R

(b) If r is odd,

XnJrr = XnJrrfl ) Yn+r72 : Xn+r73 A

Yn+r = Injr-1- Xn+r—2 ' Yn+r—3 e

(27)" scheme

Xn—i—r = Xn—i—r—l : Xn—H“—Z : Xn+7”—3 T

Yn—i—r = Intr—1- Yn+r—2 : Yn+r—3 T

- X,,n>0
Y,,n>0



Journal of New Theory 15 (2017) 48-60

o1

n Yn—i—r Xn—i—r

0 YoY1Ya2Yys...... Yr—1 ToIl1T2T3...... Tr_1

1 ToX1TX3.eu... Tr_1Y1Y2Ys...... Yr—1 T1X2T3...... Tr_1YoY1Y2Ys...... Yr—1

2,.2,.2 2 2,,2 2 2,.2 2 2,,2,,2 2

2 Jfol‘llL'Z.Z'g ...... IT_1y0y1y2y3 ...... y'f'—l [E().Z'1ZE2C(]3 ...... xr_lyoylyzyg ...... yT—l
2,.3,.4,.4 4 2,3,3,4 4 2,..3,.3..4 4 2,,3,4,4 4

3 Tol1ToTs3...... Tr_1YY1Y2Ys-----. Yr_1 T Tolg...... T 1YoY1Y2Ys-----. Yr_1
4,.5,.7,.8 8 4,6,7,7,8 8 4..5,.7 .78 8 4,6,7,8 8

4 wrTHT3.es Lr_1YoY1Y2Y3Ys-- - Yr—1 Tol1loX3Ty...... Tr1YoY1Y2Yz----- Yr—1

Table 1. First few terms of these sequences under (2"~ !)"(a) scheme

n Xn+r YnJrr

0 Yoy1Y2Yy3------ Yr—1 TOT1L2T3. ... Tp_1

1 Tol1T2X3...... Tr—1Y1Y2Y3...... Yr—1 T1T2X3...... Tr—1YoY1Y2Ys...... Yr—1
2 xox%xgxg ...... xf_lyoylygyg ...... yf 1 :L*Oazlx%x% ...... xf_lyoyfygyg ...... yf_l
3 alrdalad. 2t Rydydyte yt, aladadet zhyRydylydo gt
4 worRTiaie . T YoYTYSYSYL o Y1 TOTITRTZXL e TP YOYR Y35 Yy

Table 2. First few terms of these sequences under (2"~ !)"(b) scheme

Godase-Dhakne [8] obtained many interesting properties of multiplicative coupled
Fibonacci sequences of ' order under (2")" scheme, some of these are listed below,

for every integer n > 0 and r > 0

Xn(r41)
KXn(r+1)41
Xon(r+1)+2
Xo(r41)43

Xn(r+1)+m

i=n
H Xri—i—l =
=1
i=n
[[Yi =
i=1

: YE] - Yn(T—H) : XO
Y1 =Yoo Xa
Yy = Yaganse - Xo
Y3 = Yn(r+1)+3 - X3
Y, = n(r+1)+m * Xm

[1v

=1

i=rn

1] x
i=1
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3 Methodology

For this research it was decided to consider multiplicative coupled Fibonacci se-
quences of 7" order. When investigating the properties of the mentioned sequences,
it is necessary to take into consideration that reader will need special skills and abili-
ties of recurrence relations, master the method of mathematical induction, knowledge
on a Fibonacci sequence. All results in this research are proved only using methods
of mathematical induction.

4 Main Results

In this section identities for multiplicative coupled Fibonacci sequences of r** order
under (2771) scheme are established.

Theorem 4.1. For every integer n > 0,7 > 0
X2n(r+1) Yo = }/2n(r+1) - Xo (8)

Proof. : Case:(a)

If r is an even, then

XnJrr = XnJrrfl : Yn+r72 : XnJrT‘f?y e Yna n=>0
Yn+7‘ = Intr—1- Xn+r—2 : Yn+r—3 e Xna n >0

Using Induction Method, For n = 0, the result is true because
Xo-Yo=Yo-Xo
Now assume that the result is true for some integer n > 1

Xn+r = Xn—l—r—l : Yn+r—2 : Xn+7"—3 N Yna n >0 (9)
Yn—l—r = Inyr—1- Xn+r—2 : Yn+r—3 e Xna n > 0 (10)
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Now we prove for n + 1

Xongrstyr2rs2 - Yo = [Xongrnr2r1 - Yonray42r - Xon(ra1)+20—1*** * Yan(rs1)+r42) - Yo
= [Xoneri1)42r - Yon(rat)120—1 * Xongrrys2r—2 -+ Yon(rat)srt |
: [an(rﬂ)wr - Xon(ra1)42r—1° " - YQn(rHHrH] Yo
= [Xonert1)42r - Yon(rat)120—1 * Xongrrys2r—2 -+ Yon(rit)+ri2]
NYongra1yar - Xon@rat)rr—1* Yan(rat)tr—2 -+ Yon(ra1)11)

: [an(rﬂ)wr - Xon(ra1)42r—1° " Y2n(r+1)+r+2] - Yo

= [Xoneri1)42r - Yon(rat)r2r—1 * Xongr)r2r—2*+ * Xop(rat)+ri2]

NYonrayar—1 - Xon@rat)rr—2 - Yon(rat)tr—3 -+ Yon(ra1))

N X o) 1Yot 1) 41 X oG )42+ Xonrr )44

NYonranys2r Xonra)42r-1 -+ * Yon(ri)4ra2) Yo

= [Xonr4)42r - Yon(rs1)42r—1 - XQn(r+1)+2r—2 o Xon(rg1)4r42]
NYanra)ar—1 - Xon@ra1)tr—2 - Yon(rat)tr—3 *** * Yon(ra1)41)
N Xonri1)4r—1Yon(r1)4r— 1X2n(r+1)+r 2 X2n(r+1)+r+1}
Yoty 2 Xon(rityaar—1 - - Y2n(7"+l)+r+2] [YoXon(rt1)]

Using induction hypothesis 9,10.

= [Xonert1)42r * Yon(rat)r2r—1 * Xongr)y42r—2 ** * Xon(ri1)+r42]
Yoneri1)4r—1 - Xon@a1)tr—2 - Yon(r1)4r—3 *** * Yon(ra1)41)
[ Xoner1)er—1Yonr1)4r—1 X 2n (1) -2+ Xon(r1)4r+1]
Yoneriy42r Xoner1)42r—1 * Yonrit)rsa) [XoYon(rs1))
= [Xonert1)42- Yonri)42r—1 - Xongrat)r2r—2 - Xon(r1)+r12)
Yoneri1)4r—1 - Xon@ra1)tr—2 - Yon(r1)4r—3 *** * Yon(ra1)41)
[ Xoner1)tr—1  Yon@at)tr—1 - Xonga)4r—2*+ * Xongrr1)+1 * Yon(rt1)]
Yoneriya2r - Xongrat)r2r—1 - Yon(rat)1r+2) - Xo
= [Xon(rs1)12r - Yon(ra1)42r-1 * Xon(rit)sar—2 - in(r+1)+r+2}

N XonGry4r - Yantrat)er—1 * Xonrat)tr—2 * Yan(ra1)4r—3 **  Yan(ra1)+1]
Yoneriy42r - Xongrat)r2r—1 - Yon(rat)1r+2) - Xo
= [Xoneri1)42r - Yon(rat)r2r—1 * Xongrr)p2r—2 ** * Xon(ri1)+r42]
Yoneriya2r - Xongrat)+2r—1**+  Yon(rtt)tr+2 * Xongr1)+r4+1] - Xo
= [Yanproys2r+1 - Xongat)12r - Yon(rit)y42r—1 * Xonrit)42r—2 ** * Xon(ra1)1r+2) * Xo

= }/271(7"—{—1)-1-27‘-1—2 ' XO

Case:(b)
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If r is an odd, then

Xn—i—r = Xn—i—r—l : Yn+r—2 : Xn+7"—3 e Xn7 n=>0
Yn-l—r = Intr—1- Xn+r—2 : Yn+r—3 T Yna n >0

Using Induction Method,for n = 0, the result is true because
Xo- Yo=Yy Xo
Assume that the result is true for some integer n > 1

Xn-l—r = Xn—l—r—l ’ Yn+r—2 : Xn+r—3 T Xn7 n=>0 (11)
YnJrr = Ingr—1-" Xn+r72 . Yn+r73 T Yn; n Z 0 (12)

Now we prove for, n + 1

Xongrity42rt2 - Yo = [Xongrnys2rt1 * Yoneran)42r - Xongrat)p2r—1 - Xongrr)+rt2] - Yo
= [XQn(r—i-l)—l—Q'r “Yonri1)r2r—1° Xonra1)r2r—2- X2n(r+1)+r+1}
: [YQn(r-s-l)+2r : X2n(r+1)+2r—1 e X2n(7‘+1)+7‘+2] ’ YO
= [Xonert1)42r - Yon(rat)r2r—1 - Xongrys2r—2 - Yon(ri1)+rt2)
’ [XQH(T-I—l)-‘rT ) X2n(7‘+1)+7“—1 ) Y2n(r+1)+r—2 Tt X2n(7“+1)+1]

: [Y2n(r+1)+2r : X2n(r+1)+2r—1 A X2n(7‘+1)+7‘+2] ’ YO

= [XQn(r+1)+27‘ “Yonra1)r2r—1° Xonra1)r2r—2- X2n(r+1)+r+2}

: [XQn(T+1)+T—1 Yon(ra1)tr—2 - Xon(r1)4r-3"""" X2n(r+1)}

: [YQn(r-s-l)+r—1 : X2n(r+1)+r—1 : Y2n(7~+1)+r—2 e X2n(r+1)+r+1]

Yonerayaar - Xongat)r2r—1 -+ - Xongrst)+r12] - Yo

= [XQn(r-i-l)-i-Q'r‘ : Y2n(r+1)+2r—1 : X2n(7"+1)+27‘—2 e S/Qn(r—&—l)—&-r—f—Z}
[XQn r D=1 Yon(r D) 4r—2 * Xon(rg1)4r—3 " X2n(7"+1)+1]
Yonra)r—1 - Xon(r1)tr—1 - YQn(r+1)+r 2 Xop(rt)4rt]

[ 2n(r+1)+2r ° X2n (r+1)4+2r—1""" " X2n(7‘+1)+7“+2] : |:YE) : X?n(r—i—l)}
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Using induction hypothesis 11,12

= [Xonert1)42r - Yon(rat)120—1 - Xongrrys2r—2 -+ Yon(rit)sri2)

[ Xonera1)tr—1 - Yon(rat)tr—2 - Xongr)4r—3**  Yon(ri1)41)
NYonran) -1 Xonga1)tr—1 * Yan(rat)+r—2 -+ - Xon(r1)4r+1)
Yonraya2r - Xongrat)r2r—1 -+ Yangrat)rrr2) © [Xo - Yon(ran)]

= [Xonert1)42r - Yon(rat)120—1 - Xongrrys2r—2 -+ Yon(ri1)+ri2)

[ Xonera1)tr—1 - Yon(rat)tr—2 - Xongr)4r—3**  Yon(ri1)41)
[Yonra) -1+ Xonga1)tr—1 * Yangrat)sr—2 -+ - Xongra1)+1 * Yon(ren)]
Yonray42r - Xongat)12r—1 -+ Yan(ra1)1r+2] - Xo

= [Xonert1)42r - Yon(rat)120—1 - Xongrys2r—2 -+ Yon(ri1)sri2)
Yonra)4r - Xongat)tr—1 * Yangst)+r—2 * Xon@ra)4r—3 -+ Yon(ri1)41)
Yonray42r - Xongrat)r2r—1 -+ Yan(ra1)1r+2] - Xo

= [Xonert1)42r - Yon(rat)12r—1 * Xongrys2r—2** Yon(rit)srt ]
[Yonraya2r - Xongrat)+2r—1*++ Yan(rat)+r+2 * Xongr)4r1] - Xo

= [Yongrays2r+1 - Xongat)12r - Yan(rat)42r—1 - Xonra)42r—2 -+ * Yon(ra1)4r+2) - Xo

= }/Qn(r+1)+2r+2 - Xo
Hence proof. O

Theorem 4.2. For every integer n >0, r >0

X?n(r+1)+1 : }/1 - }/’Qn(r—l—l)—f—l : Xl (13)
X2n(r+1)+2 Yy = Yv2n(r+1)+2 - Xo (14)
Xonr+1)+3 - Y3 = Yon(rt1)43 - X3 (15)
Proof. Proof is similar to theorem 4.1 O

Theorem 4.3. For every integer n > 0,7 > 0 and m > 0

X2n(7”+1)+m Y, = Y’Qn(r—i-l)—l—m Xm (16)

Proof. Case:(a)

If r is an even, then

Xn+r = Xn—l—r—l : Yn+7’—2 : Xn+7‘—3 T Yna n >0
Yn+r = YnJrrfl : Xn+r72 : Yn+r73 e XTU n =0

Using induction method, for n = 0 the result is true because

X Yo =Y - X,
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Assume that the result is true for some integer n > 1

Xoir = Xoir1 - Yorrs - Xnirg- Yon >0 (17)
Yoirr =Yoo Xogr 2 Yogr 3 X;,,n >0 (18)
Now, we prove for n + 1
Xon(rs)mr2r42 - Ym = [Xongrtrme2rt1 - Yon(rt)tme2r © Xon(r)tme2r—1* * Yonrr)4r+2) * Y
= [Xongr)sma2r - Yon(rt)tmt2r—1 * Xon(r)tm2r—2 * * Yon(ri 1) bmtrii)
NYangrt)rmazr - Xongrat)yrmazr—1 -+ Yonratdmart2] - Yo
= [Xongr)smt2r - Yon(ret)tmt2r—1 * Xon(r1)tme2r—2 ** * Yon(ri1)4mirs2)
NYangr1)tmar © Xongre1)tmar—1 * Yon(a)tmar—2* Yan(ri1)1m+1)
NYangrt)tmazr - Xongrat)yrmazr—1 - Yonratdmartz] - Yo
= [Xon(r+1)eme2r * Yonrat)yme2r—1 * Xon(ri 1) bmazr—2 -+ Xon(r+1)tmtri2)
- [Yantran)smar—1 * Xon@ratmar—2 * Yon(ra)+mer—3** * Yan(rs1)4+m)
[ Xoner1)tmer—1 * Yon(rat)pmar—1 * Xon(rat)tmir—2 * ** * Xon@ri1)mtrt1]
NYangrst)rmazr - Xongrat)yrmazr—1 - Yonrattmart2] © Yo
= [Xon(r+1)eme2r * Yonrat)ma2r—1 * Xonri1)bma2r—2 - * Xon(r+1)4mtri2)
NYonra1)mrr—1 - Xongrat)smar—2 * Yon(rt)tmer—3 *** * Yon(r41)1mt1]
[ Xoner1)tmer—1 * Yon(rat)bmar—1 * Xon(rat)tmir—2 ** * * Xon@ri1)mtrt1]
NYonerat)ymrzr - Xongrt)ytmazr—1 - Yonerat)yemert2) © [Yin - Xon(r+1)4m)
Using induction hypothesis 17, 18
= [Xon(t1)tmr2r * Yon(rit)tmsar—1 * Xon@rat)tmiar—2 -+ Xon(r1)mtri2)
Yonerat)ytmar—1 - Xongat)tmer—2 * Yon(rat)ytmar—3 ** * Yon(ri1)4mt1)
N Xonat)pmar—1 * Yonrat)tmer—1 * Xon(r)pmar—2 *** * Xon(ri1)4mtri)]
Yon(rat)yrmaor - Xonerit)emiar—1 -+ Yo tpmears2] © [ X - Yon(rir) + m]
= [Xon(t1)tmr2r * Yon(rit)tmar—1 * Xon@rat)tmiar—2 -+ Xon(r1)+mtri2)
NYon(rat)ytmar—1 - Xongat)tmer—2 * Yon(rat)ytmar—3 * * Yon(re1)4mt1)
X onra ) tmrr—1  Yan()smar—1 © Xon(ra1)tmir—2 *** Xon(r41)+ma1 * Yon(r+1)4m)
NYangranyamezr - Xongrt4mazr—1 - Yonrat)4mrriz) - Xm
= [Xon(r1)tme2r - Yongrat)ysme2r—1 * Xon(ra)bma2r—2 - - Xon(r+1)4mtr12)
X ona ) tmrr + Yangra)tmar—1 © Xon(ra1)tmtr—2 * Yon@rDtmar—3 - Yon(r1)4mr1)
NYangranyamezr - Xongrt4mazr—1 - Yonrat) 4mrri2) - Xm
= [Xon(r1)tme2r - Yongrat)ysme2r—1 - Xon(ra)bma2r—2 - * Xon(r+1)4mtr12)
NYangranyamezr - Xongrtamazr—1 - Yonrat)bmerrt2 * Xonr41)4mar+1] - Xm
= [Yonra1)+mr2r1 - XonrD4ma2r - Yon(r1)tma2r—1 * Xon(r+1)4m2r—2 < Xon@i)4mar+2) - Xm

= )/Zn(r+1)+m+2r+2 *Xm
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Case:(b)
If r is odd, then

Xn+7“ = XnJrrfl : Yn+r72 : Xn+r73 o Xn7 n =0
Yn+r = Ingr—1- Xn+r—2 : Yn+r—3 Tt Yna n >0

Using induction method, if n = 0, the result is true because
Xn Y, =Y, - X,

Assume that the result is true for some integer n > 1

o7

Xoir = Xoir1 - Yorrs - Xoirg-- Xnin >0 (19)
Ysr = Yoirt - Xoroo - Yasrg----Yorn >0 (20)
Now, we prove for n + 1
Xon(rt1)sma2r+2 * Y = [Xon(at)tme2rt1 * Yonerat)tmrzr © Xonrr1)tmazr—1* * Xon(r+1)tmtri2)
= [Xongr)+mazr - Yon(rat)rmt2r—1 * Xon(ra1)tmr2r—2 - * Xon@rr1)bmirii)
NYonerat)ymrzr - Xongrt)mazr—1 -+ Xonerst)tmertz| * Yo
= [Xontr+1)tme2r * Yon(rat)yma2r—1 - Xon(rst)ysma2r—2 - Yon(ri1)+mri2]
N Xoneri1)tmer * Xongrt)ysmer—1 * Yon(at)tmir—2 *** * Xon@ri1)+mt1]
NYonerat)yrmrzr - Xongrt)tmazr—1 -+ Xonerst)tmertz) * Ym
= [Xongrt)+mazr - Yon(rst)tmt2r—1 * Xon(ra1)tmr2r—2 - * Xon(rr1)bmiri2)
[ Xonera1)tmer—1 * Yon(ra ) pmar—2 * Xon(ra1)tmtr—3 *** * Xon(r11)4m)]
NYonrat)mrr—1 - Xongrat)ytmar—1 * Yon(rit)tmer—2 *** * Xon(rt1)tmrti)
NYonerat)ymrzr - Xongrt)mazr—1 -+ Xonrst)tmertz| * Yo
= [Xon(r+1)tmt2r * Yon(rit)+mt2r—1 - X2n(7’+1)+m+2r—2 EERD CHARI—
[ Xonri1)tmer—1 - Yon(rt)ypmar—2 * Xon(rs1)tmtr—3 *** * Xon(r1)4m+1]
Yonra1)tmrr—1 * Xongrr 1) mar—1 - an(r+1)+m+r 5 Xon(r1)tmtrti)

[ 2n(r+1)+m+2r ° XZn(r+1)+m+2r 1°°°- X2n(r+1)+m+r+2} : [Ym ’ X2n(r+1)+m}
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Using induction hypothesis 19 20

= [Xonert1)tmr2r - Yonrot)ymaor—1 - Xon(r1)sms2r—2* Yon(ri1)mtri2]
N Xonri1)tmrr—1 - Yon(rs1)smar—2 * Xon(rs1)tmer—3 *** * Yon(ra1)tmt]
NYangrat)mar—1 - Xongrat)ypmar—1 * Yon(rt)tmer—2 *** * Xon(re1)+mrt1)]
NYangratymrzr - Xongrtypmazr—1 - Yonerit)tmert2] © [Xm - Yon(ra1)1m)]
= [Xon(rt1)tme2r * Yon(ret)smt2r—1 - X2n(r+1)+m+2r—2 s Yon(r1)4mri2)
[ Xonri1)tmrr—1 - Yon(rst)smar—2 * Xon(rt1)tmer—3 *** * Yon(ra1)tmt]
NYanera 1) tmrr—1 * Xongri1)mar—1 - an(r+1)+m+r 2+ Xonro1)+ms1 * Yan(r41)4m)
NYanra)ymerzr - Xongrit)pmaar—1 - - Y2n(r+1)+m+r+2] - Xm
= [Xoner1)tmr2r - Yon(rit) tmaor—1 - Xon(rt)sma2r—2* * Yon(ri1)mtri2]
- [Yantrat)ysmar - Xon(ra)4mar—1 ° Yan(rDimir—2 * Xon(rDbmar—3 - Yan(r+1)+m+1)
Yangrs1)tmezr - Xongrat)yrmezr—1 -+ Yoneritpmars2)] - Xm
= [Xoneri1)tmr2r - Yon(rit)ymaor—1 - Xon(r1)sma2r—2* Yon(ri)metrt1]
NYangratysmrzr - Xongrrt)ypmazr—1 - Yonrit)pmrrs2 * Xonrt 1) 4mar+1] * Xm
= [Yon(rt1)tme2r11 - Xon(ra1)tmr2r * Yon(ri1)4ma2r—1 * Xon(reDbma2r—2°*** Yon(ri1)4mtr+2) © Xom

= }/Qn(r+1)+m+2r+2 - X
Hence proof. m

Theorem 4.4. For every integer n >0, >0

1=n =rn
HXTi+1 7“2-1—1 H Y X
i=1
Proof. Using induction method, for n = 1, the result is true because

X1 Yo =Y, Yoo Yog V] (X, Xy - Xpp - X
= [Y .XT] . [Y;’—I'Xr—l] . [Y;»_Q'Xr_g]"" [Yle]

Assume that the result is true for some integer n > 1 (a) If r is an even, then

Xn—i—r = Xn+7"—1 : Yn—i—r—? : Xn+r—3 A Yna n=>0 (21)
Yn—f—?" = Yn+r—1 : Xn+r—2 : Yn+’r—3 e X’m n=>0 (22)

(b) If r is an odd, then

Xn—i—r = Xn—i—r—l ’ Yn+r—2 : Xn+r—3 T Xn7 n=>0 (23)
Yn—l—'r = Inyr—1- Xn—l—'r—Q : Yn+r—3 T Yn; n=>0 (24)
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Now, we prove for n + 1

1=n-+1

H Xm’-i—l ’ Y;i-&-l = [Xri+1 : Y;‘i—i-l] ' [Xr(nJrl)Jrl : Xr(n+1)+1]
=1 1

@
Il
3

(2

Using induction hypothesis 21 22 23 24

i=rn

= H [Xz : Y;] : [Xrn+r+1 : Y;"nJrr+1]
=1

i=rn

- H [Xz : Y;] . [an—l-'r : Xrn—l—'r] : D/rn—l—r—l : Xrn+r—1] : [Y;‘n—l—r—Q : Xrn+r—2] et [Y:rn—&—l . Xrn+1]
=1

i=rn-+r

= [ i xi

=1

Hence proof. m

5 Conclusion

Identities of multiplicative coupled Fibonacci sequences of r** order under gr—1th
scheme are described in this paper, this idea can be extended for other schemes and
multiplicative coupled Fibonacci sequences of r*" order with negative integers.
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